
1) (3 x 61) / (6 x 4-4)

Answer: ____________

2) 23.1 x 3.5

Answer: ____________

3) Convert the following improper 
fraction 1316/17 + 182/6 to a mixed 
number

Answer: ____________

4) (-563) + (-180)

Answer: ____________

5) 74/12 x 154/5

Answer: ____________

6) Decrease 184 by 1/46

Answer: ____________

7) Decrease 184 by 1/46

Answer: ____________

8) 861 + (-491)

Answer: ____________

9) Find perimeter of 
square having each side 
(s) equals 577 cm

Answer: ____________

10) Find perimeter of 
square having each 
side (s) equals 577 cm

Answer: ____________

11) 02:02 am To 07:13 am

Answer: ____________

12) Round 13.75130844 to 3 significant 
figures.

Answer: ____________

13)
31 Find Volume of 
               30       Cylinder

Answer: ____________

14) Find perimeter of 
square having each 
side (s) equals 341 in

Answer: ____________

15) 41 x 10

Answer: ____________
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16) Solve 18x2 + 8x - 14 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

17) Find area of triangle
h = 192 in, a = 416 
in,
b = 833 in, c = 998 
in

Answer: ____________

18) Round 11.2183384068 to 3 decimal 
places.

Answer: ____________

19) Decrease 62.8 by 66%

Answer: ____________

20) 54/20 x 1813/14

Answer: ____________

21)

A B = 51
Find the Angle at side A.

Answer: ____________

22) Find perimeter of 
square having each 
side (s) equals 747 in

Answer: ____________

23) Find the percentage change from 15 
to 84.6

Answer: ____________

24) Solve 15q2 - 17q + 2 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

25) (-110) ÷ 11

Answer: ____________

26) (-110) ÷ 11

Answer: ____________

27) (10 x 44) x (1 x 5-1)

Answer: ____________

28) Round 3.3225494429 to 3 decimal 
places.

Answer: ____________

29) Round 30.45370 to the nearest 10

Answer: ____________

30) Share 20 in the ratio 3:2

Answer: ____________
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31) 5/20 x 10/9

Answer: ____________

32) Find perimeter of 
square having each 
side (s) equals 441 m

Answer: ____________

33) 532 ÷ (-28)

Answer: ____________

34) (-351) + (-257)

Answer: ____________

35)

'Name the type of angle.

Answer: ____________

36) 859 x 938

Answer: ____________

37) 682.55 ÷ 18.7

Answer: ____________

38) What would you multiply by to 
decrease an amount by 92%?

Answer: ____________

39) Find perimeter of 
rectangle having 
sides a = 891 m 
and b = 436 m

Answer: ____________

40) 915/18 x 714/15

Answer: ____________

41) 915/18 x 714/15

Answer: ____________

42) 46 x (-36)

Answer: ____________

43) 46 x (-36)

Answer: ____________

44)
22 Find Volume of 
         28               Triangular Pyramid

25 28
20

Answer: ____________

45)
Find the next three numbers in 
the sequence
5,0,0,-5,-5,-10,-10__,__,__

Answer: ____________
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46) Find the range of the following set of data:

-0.6, -1, 20, 0.6, 18

Answer: ____________

47) Find the range of the following set of data:

-0.6, -1, 20, 0.6, 18

Answer: ____________

48) Round 22.2135 to 3 significant 
figures.

Answer: ____________

49) Increase 142 by 2/71

Answer: ____________

50) Increase 142 by 2/71

Answer: ____________

Total: ___ / 50
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Answers:

1) 768 2) 80.85 3) 3214/51 4) -743 5) 11513/15 6) 180 7) 180

8) 370 9) 2308cm 10) 2308cm 11) 05 Hours 11 Mins 12) 13.8 13) 21912.608758789 14) 1364in

15) 410 16) x = 0.7 or -1.1 17) 79968in 18) 11.218 19) 21.352 20) 983/7 21) 129

22) 2988in 23) 464% 24) q = 1 or 0.1 25) -10 26) -10 27) 512 28) 3.323

29) 30.5 30) 4 : 16 31) 5/18 32) 1764m 33) -19 34) -608 35) Straight

36) 805742 37) 36.5 38) 0.08 39) 2654m 40) 781/90 41) 781/90 42)

43) 44) 1833.3333333333 45) -15,-15,-20, 46) 21 47) 21 48) 22.2 49) 146

50) 146
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